DISPLAY PRESSURE SWITCH
DPC

Parameterization also via NFC-smartpho
Android .

Display and electrical connection are indep
rotatable 335%/343° '

Analogue output switchable mA or
Integrated datalogger
Measuring range adjustable

fee
X B
82,

R
Sp2 (@

Trafag sensors & controls Industriestrasse 11 +4144922 32 32
Switzerland 8608 Bubikon www.trafag.com

sensors OCOI’]tI’OlS



Display Pressure Switch DPC 8380

Swiss based Trafag is a leading international supplier of high quality
sensors and monitoring instruments for measurement of pressure
and temperature. The DPC 8380 is the ideal combination of pressure
switch and transmitter with pressure display. The parameters are set
on the device or in a timesaving way via an NFC - smartphone App.
The settings in combination with a comprehensive set of options
make the DPC 8380 suitable for a wide range of industrial applica-
tions.

Applications Features

# Machine tools ® Parameterization also via NFC-smartphone App (Android)
® HVAC ® Display and electrical connection are independently rotata-
® Refrigeration ble 335%/343°

® Water treatment ® Analogue output switchable mAorV

® Process technology # Integrated datalogger

® Measuring range adjustable

Technical Data

M12x1
T 343° max. 5 Nm

7/16"-20UNF
SAE4(J1926) 029.5
sw27

Measuring principle Thick-film-on-ceramic Accuracy @ 25°C typ. =0.5%FS typ.
=0.3%FS typ.
Measuring range 0..0.2t00...100 bar Media temperature -25°C... +85°C
0..2.5t00...1500 psi
adjustable
Output signal 4..20mA,0..5VDC,1...6VDC, Ambient temperature -25°C ... +85°C
0...10VDC, switchable mAorV
NLH @ 25°C (BSL) typ. =0.2%FStyp. Pressure unit for display ~ bar, psi, MPa, kPa, mMWC, mmWC,
inchWC, %, user scale
Switching output 2 PNP Logger Ring buffer: 3518 data points
Sampling time: 0.1 ...999.9 s, Off (0)
037 Protective cap (28.5) 14.5
14 145 12 2 14 3115 Ofing
&@ o 5@ ; Eil= —< - ! 08924183
— | 1 Sl 12,5 ZE—(

o

|

93
l[\

455
-~
S
S
=
&

05.05x3U

M5x7
G1/2

DIN3869

15.1_2 145 10 145

T I —
TE@H SW27/929.5 M ﬁ } }

48 I

7/16"-20UNF SAE J512

T 9/16"-18UNF
15
‘\* SAE6(J1926)  ©29.5

05.05x3U
M5x7
1/4" NPT
0295
swa7
05.05x3U
M5x7
R1/4°
DIN3858

G1/4'x13119 0-Rin Bore 28
/NBR — 54.60 M2:1 :
]
GI ‘< ?l g i
= / = g U » . B
= = s
8 Lo e -
g z . El (8
= S —
=l 2001 < - 0-Rin
+0. 020x1.5 ]
030 16 Sealing DIN/ISO 3869, = " "
23.9029.241 5 5 Welding flange (AISI 316L) for G3/4
Flange adapter frontal membrane

ﬂ Data sheet www.trafag.com/H72320

sensors <0 controls

H70691p 05/2022

Subject to change



